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Introduction
In last meeting, RAN4 successfully define the RRM requirement for R18 measurement without gap features. 
In this paper, we share our view for remaining RRM requirements issue about R18 FeMG WI.
Discussion
	Issue 1-4-1: Interruption caused when DRX is configured larger than 320ms
· Proposals
· Option 1: No interruption is expected when DRX is configured larger than 320ms on the serving cell.
· Option 2: Interruption is allowed, and it is according to Tcycle,i.
· Option 3: No interruption is expected during DRX activity time, including DRX ON duration extended by inactivity-timer after each PDCCH reception.
· Agreement: 
· RAN4 specifies interruption requirements for cases when DRX is configured in the maintenance part of the work item.




Regarding interruption with DRX configuration, it is already allowed for example deactivated SCell measurement. During deactivated SCell measurement, the interruption is allowed regardless of DRX configuration when measCycleScell > 640ms. Different from the interruption during deactivated SCell measurement, interruption during R18 measurement without gap is formulated based on measurement periodicity for certain frequency layer. Since measurement period is also impacted by DRX cycle, DRX cycle is also used as function of Tcycle when calculating interruption ratio. Moreover, interruption ratio will be very small when DRX cycle is applied. Since interruption ratio is negligible, RAN4 does not need to discuss whether it has to “zero” interruption or not. 
Observation: Since measurement period is also impacted by DRX cycle, DRX cycle is also used as function of Tcycle when calculating interruption ratio. Moreover, interruption ratio will be very small when DRX cycle is applied. Since interruption ratio is negligible when DRXcycle is configured, RAN4 does not need to discuss whether requirement has to “zero” interruption.
Proposal : When DRX cycle is configured, interruption is allowed and it is according to Tcycle,i. Updating Tcycle,i = (CSSFoutside gap) * max (80ms, SMTC period, DRXcycle),
Conclusions
Observation: Since measurement period is also impacted by DRX cycle, DRX cycle is also used as function of Tcycle when calculating interruption ratio. Moreover, interruption ratio will be very small when DRX cycle is applied. Since interruption ratio is negligible when DRXcycle is configured, RAN4 does not need to discuss whether requirement has to “zero” interruption.
Proposal : When DRX cycle is configured, interruption is allowed and it is according to Tcycle,i. Updating Tcycle,i = (CSSFoutside gap) * max (80ms, SMTC period, DRXcycle),
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